

امین جلالی

$$\begin{aligned} \begin{aligned} & \xrightarrow{-1^+} \quad 1 \left[\frac{1 - (-1^+)}{1} \right] + a \left[\frac{-1^+ + 1^+}{1} \right] = 1(1) - 1^+ \\ & \xrightarrow{-1^-} \quad 1 \left[\frac{1 - (-1^-)}{1} \right] + a \left[\frac{-1^- + 1^-}{1} \right] = 1(1) - a \end{aligned} \quad \Rightarrow \quad 1 - a = 1 \Rightarrow a = 0 \end{aligned}$$

$$\Rightarrow \left[\frac{1}{1} \right] = \boxed{0}$$

$$\lim_{x \rightarrow 1} \left[1 \left(\frac{1}{x} \right) - 1 \right] \rightarrow \left[0^- \right] = \boxed{-1}$$

$$\begin{aligned} & \xrightarrow{-\frac{1}{x}^+} \quad \left[1 \left(-\frac{1}{x} \right)^+ - \left(-\frac{1}{x} \right)^+ \right] = \left[0^- \right] = -1 \\ & \xrightarrow{-\frac{1}{x}^-} \quad \left[1 \left(-\frac{1}{x} \right)^- - \left(-\frac{1}{x} \right)^- \right] = \left[0^+ \right] = 0 \end{aligned} \Rightarrow \text{مستقر}$$

$$\begin{aligned} & \Rightarrow \left[\frac{1}{x^2} \right] = \left[1^+ \right] = 1 \\ & \rightarrow \left[-\frac{1}{x^2} \right] = \left[(-1)^+ \right] = -1 \end{aligned} \Rightarrow \lim_{x \rightarrow -\frac{1}{x}} \frac{\log x - \infty + 11}{+14x + 11} = \frac{1}{0^-} = \boxed{-\infty}$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 \pi x}{1 + \cos \pi x} \xrightarrow[\text{مجموع است}]{\text{رنگ ابعادی}} \frac{1 - \cos^2 \pi x}{1 + \cos \pi x} \Rightarrow 1 - \cos \pi^+ \rightarrow 1 - (-1) = \boxed{2}$$

$$\begin{aligned} & \xrightarrow[\text{مجموع است}]{\text{رنگ ابعادی}} \text{kop} \rightarrow \frac{\frac{1}{x\sqrt{x+1}} - \frac{1}{x\sqrt{x+1}}}{\frac{1}{x\sqrt{x+1}}} \xrightarrow{x \rightarrow -1} \frac{\frac{1}{1} - \frac{1}{1}}{\frac{1}{+1}} = \frac{-\frac{1}{1}}{\frac{1}{1}} = -\frac{1}{1} = \boxed{-1} \end{aligned}$$

$$\begin{aligned} & \xrightarrow[\text{مجموع است}]{\text{رنگ ابعادی}} \text{kop} \rightarrow \frac{1 - \frac{1}{x\sqrt{x+1}}}{1 - \frac{1}{x\sqrt{x+1}}} \xrightarrow{x \rightarrow 1} \frac{1 - \frac{1}{1}}{1 - \frac{1}{1}} = \frac{-\frac{1}{1}}{\frac{0}{1}} = -\frac{1}{0} = \boxed{-\infty} \end{aligned}$$

①

$$\lim_{x \rightarrow 0} \frac{f(x)}{g(x)} \rightarrow \text{hop} \rightarrow \frac{\frac{b}{\sqrt{bx+c}}}{1} \xrightarrow{x \rightarrow 0} \frac{b}{\sqrt{c}} = \frac{1}{\sqrt{c}} \Rightarrow \boxed{b=1, c=1}$$

$$\Rightarrow a + \sqrt{bx+c} \xrightarrow{x \rightarrow 0} a + \sqrt{1} = 0 \Rightarrow \boxed{a=-1} \Rightarrow \frac{-1(1)}{1} = \boxed{-1}$$

②

$$\begin{aligned} & \xrightarrow{-1\pi^+} \frac{1 + k \left[\frac{-1\pi^+}{\pi} \right]}{0^+} = \frac{1 - PK}{0^+} \Rightarrow 1 - PK > 0 \Rightarrow k < \frac{1}{P} \end{aligned}$$

$$\begin{aligned} & \xrightarrow{-1\pi^-} \frac{1 + k \left[\frac{-1\pi^-}{\pi} \right]}{0^-} = \frac{1 - PK}{0^-} \Rightarrow 1 - PK < 0 \Rightarrow k > \frac{1}{P} \end{aligned}$$

$$\Rightarrow \frac{1}{P} < k < \frac{1}{P} \Rightarrow -\frac{1}{P} < -k < -\frac{1}{P} \Rightarrow \boxed{[k] = -\frac{1}{P}}$$

③

$$\begin{aligned} \lim_{x \rightarrow 0} \frac{b\sqrt{1+\sqrt{x}} - 1}{ax-b} &= \frac{0}{0} \xrightarrow{\text{hop}} \frac{\frac{b}{2\sqrt{1+\sqrt{x}}}}{\frac{a}{1}} = \frac{\frac{b}{2\sqrt{2}}}{a} = \frac{b}{2a\sqrt{2}} \\ \Rightarrow 1a=b &\rightarrow 1a=2b \end{aligned}$$

$$\frac{b}{2a} = \boxed{\frac{1}{2}}$$